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C-2022

B. Com. (Part IT) EXAMINATION, 2019

(Group—III : Applied Economics)
Paper First
BUSINESS STATISTICS

Time : Three Hours ) [ Maximum Marks : 75
e T gy F o AR TRE T ¥ T T R
vt &1 o ut & siw wm &
Attfm}pt all the five questions. One question from each
Unit is compulsory. All questions carry equal marks.
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_ (UNIT—1)
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What are 1tt_hi: causes of distrust in statistics ? Point out the
sources of errors "causing distrust. S nedi
removing di g :.lggcst remedies for
T
(Ory
O W p=4 y=3 y=8 z=5 5-.3

) 3
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If y =4, y2 =3 »y =8, z =5 Z3=-3, z3=7

3
then find Zo’i +z).
I=] :
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70 7 |
60 18
50 40
40 40
30 63
20 65

The marks obtained by 65 students in an examination
are given in the following table. Calculate Arithmetic
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Marks (More than) No. of Students
70 7
60 18
50 40
40 40
30 63
20 65
TR—2
(UNIT—2)
2 Pl woier 3 v Reem o 35 e s AR -
15
I (it %) s
5—7 | 7
8—10 12
11—I13 19
14—16 10
17—19 2 |
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Find standard deviation and its coefficient from the
following data :

Age (In years) Frequency I
5—17 7
8—10 12
11—13 19
14—16 10
17—19 2
g7
(Or)
Preifoe ot 3 el R @ v o T B -
L agfs
10 2
1 4
12 10
13 g
14 5

From the following data find out the Karl Pearson’s
coefficient of skewness :

l Measurement Frequency .
10 2
11 4
12 10
13 8
14 3
(8-22) P. T. 0.
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(UNIT—3)
3. Frefafer sieel & wewdd T WRafm BRm . 1
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3 — 1 — — 10 |
= - —_ -_ 10
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=1 —_ - —_ 10 14 8 —_
0| — - 4 10 18 6 | —
- 4 6 12 | — T = 1=
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318 | -1 =T =7T=7=
Calculate coefficient of correlation from the following data :
y
h =3 -2 -1 0 | 2 3
-; - | - - — | = — |10
= - | — —_ - 16 6 8
-1 | — 1T = — 10 14 8 | —
0 - —_ 4 10 18 6 —
I —_ 4 6 12 -
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Explain he
Meaning and utility of
between . Y of regression. Distinguish
Comrelation ang regression,
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(UNIT—4)
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C-2022

PR | 9@ w1 SR YT B e R wefif of i

- T
(i Reiea %)
2013 T
2014 10
2015 12
2016 14
2017 17
2018 24

16

Fit a straight line trend by the method of least squares in the

following series. Show also the original data and trend line

on the graph paper : hitp://www.prsunotes.com

Year Production
(In crore of quintal)
2013 7
2014 10
2015 |2
2016 14
2017 17
2018 24

(8-22)P.T.0.
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2 4 16 8 40
L * > 3 10 60

From the following data construct Fisher’s index number

l

Base Year

http://www.prsunotes.com

Current Year
ltems Price per Total Price per Total |
unit | expenditures | unit expenditure
(9] Q) ® ®)
I 2 40 5 75
2 4 16 8 40
3 1 10.- 2 2
L—i 5 5 10 60
(B-22)
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W5
(UNIT—S)

@) oh 3 g ¥ ¥ T WS ®R 0 B, T AW
i @ ?
What is the probability that a vowel selected at random
in a book of English isan O ?
@) v ¥ s wde, 4w, s DR ARa T R 1 @
e ygfes &0 ¥ Poe R 369 Feh @ o @
1 Wlwar 7 2 ? 10
A bag contains 5 white, 4 black, 3 yellow and 4 red
balls. What is the probability of getting a black or red
ball at random in a single draw of one ?
UG
(Or) _
UF W S A 2000 WheR AT, 4000 TR AEH T
6000 g3 Wedl @ dm fhu| ¢ gdeAmw @R @
g A 001, 003 3R 015 ¥ vE M Ao
eI @ W B ® PR AGS 2, WA WS
framfere | - 15
An insurance company insured 2000 scooter drivers,
4000 car drivers and 6000 truck drivers. The probabilities to.
meat with an accident by a scooter driver, a car driver and a
truck driver are 0.01, 0.03 and 0.15 respectively. One of the

insured drivers meats with an accident. Find the probability
that he is a car driver.
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